K3S30¢ (K 51) Structure:
A2B6C3 0P44 62 2¢ 2¢2d 3¢-001

This structure originally had the label A2B6C3_oP44_62_2c_2c2d_3c. Calls to that address will be redirected here.
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Crrystallographic Prototypes: Part 3, Comput. Mater. Sci. 199, 110450 (2021), doi: 10.1016/j.commatsci.2021.110450.
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Prototype K90gS3
AFLOW prototype label A2B6C3_0P44_62_2c_2c¢2d_3c-001
Strukturbericht designation K5,
ICSD 8200
Pearson symbol oP44
Space group number 62
Space group symbol Pnma

AFLOW prototype command aflow --proto=A2B6C3_oP44_62_2c_2c2d_3c-001
—~params=a, b/a7 C/a7 T1,21,T2,22,T3,23,T4,24,T5,25,L6,26,L7,27, L8, Y8, 28,9, Y9,
29

Other compounds with this structure
RbsS30¢

o (Stewart, 1979) give the Wyckoff positions of this structure using the Pnam orientation of space group #62. We have
used FINDSYM to change this to our standard Pnma orientation.
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Simple Orthorhombic primitive vectors

a; = aX
az = by
ag = cZ
Basis vectors
Lattice Cartesian Wyckoff Atom
coordinates coordinates position type
B, = J:lal—l—iag—i—zlag asr:lfc—i—iby—kczli (4c) KI
B, = —(z1—3)ar+3a+ —a(z1— ) x+3by+c(a+3) 2 (4c) KI
(21 +3) as
By = —zia; + %32 — 21 a3 —ar1 X+ %by —cz1 2 (4c) KI
B, = (acl—i—%)al—i—iag—(zl—%)a;; a(xl—l—%)i—i—%by—c(zl—%)i (4c) KI
B; = Tpa1 + 3 as + 2283 aza X+ 1by +c202 (4c) K II
Bsg = —(z2—3) ar+3a+ —a(z— ) %+ 3by+c(zn+3)2 (4c) K II
(22 +3) as
B, = —T9a; + %32 — 29 a3 —azre X+ %by —c29% (4¢) KII
Bg = (mg—i—%)al—l—iag—(zQ—%)ag a(xg—l—%)f(—i—%by—c(zg—%)i (4c) K II
By = T3al + §as + 23a3 arzX+ 1by +c232 (4c) 01
B = f(ng%) a1+%a2+ 7(1(:1;37%)5{4’%()5}4’(3(234’%)2 (4¢) (OB
(z3+ %) a3
Bi1 = —z3a; + %ag — 23 a3 —azxr3 X+ %by —cz37Z (4¢) OlI
B = (atg—i—%)al—l—iag—(zg—%)ag a(xg—l—%)f(—i—%by—c(zg—%)i (4c) 01
Bz = Tqay +ia2+z4a3 am4>‘<+iby+cz412 (4¢) O1II
B4 = —(za—3) a4+ 2ay + —a(zs—3) X+ 309 +c(zu+3) 2 (4c) O1I
(1 3) 2
Bis = —rga; + §az — za3 —azs X+ 30y — ez (4c) Ol
Big = (m—l—%) al—l—iag—(zél—%) as a(m—l—%)fc—l—%by—c(u—%)i (4c) O1II
By = z5a1+%a2+z5a3 ax55<+ib§f+CZ52 (4¢) S1I
Bis = 7(%7%) a1+%a2+ fa(x5f%)5<+%by+c(z5+%)i (4c) S1I
(2 +3) as
By = —x5a; + %ag — 25 as —axs X + %by —cz5 2 (4c) S1I
By = (33‘54-%)&14-%32—(25—%)33 a(a:s—l—%)fc—kiby—c(zg)—%)i (4c) SI
By, = z6a1+%a2+26a3 ax6>‘<+%by+czﬁi (4¢) S1I
Boy = —(z6—3) a1+ 3as+ —a(zg— ) X+ 3b9+c(z+13)2 (4c) SII
(26 + %) as
By = —xgag + %ag — 2 as —axgX + %by —c262 (4c) S1I
Boy = (a:6—|—%) a1—|—ia2—(z6—%) as a(xg—l—%)fc—!—iby—c(zf;—%)i (4¢) S1II
Bos = r7a + %ag + 27 a3 ax7 X + %by + cz7 % (4¢) S III



B26 = 7(1‘77%) al+%ag+ = *G(I7*%)5§+%by+c(2’7+%)2 (4C) S IIT

(27 +3) a3

By = —z7a; + %ag — 27 a3 = —axr7X + %by —cz72 (4¢) S III

Bos = (aw—i—%) a1+iag—(z7—%) az = a(gcy—l—%)fc—i—iby—c(zy—%)i (4c) S III

By = Tgai + ysas + zgag = arg X + bys ¥ + cz3 Z (8d) O III

B3y = 7(:1:87%) a; —ygas + = *Q(l’g*%)f{*bygy‘f'C(Zgﬁ’%) Z (8d) O III
(25 + %) a3

Bs: = —zsai+(ys+1)ay—zga3 = —arsX+b(ys+3) § —cas2 (8d) O I

B3, = (zs+3) a1 — (ys — 3) a2 — = a(zs+3)%x—b(ys—3)y—clzs—3)2 (8d) O III
(2 —3) as

B3 = —rga; — ygas — 2gas = —argX —bys y — c2s 2 (8d) O III

Bss = (zs+3) ait+ysar—(zs—3) a3 = a(zs+3) X+bysy —c(zs— 1) 2 (8d) O III

Bs; = xgal—(y —%) as + zg as = a:vgfc—b(y —%)y+0282 (8d) O III

Bsg = —(zs—3)ai+(ys+3)as+ = —a(zs—3) %+b(ys+3) J+c(zs+3)2 (8d) O III
(28 + 3) as

Bs; = Tgaj + yg as + 29 as = argX + byo y + cz9 Z (8d) o1V

Bss = — (29— 1) a1 —yoas + = —a(zg— ) X —byoy+c(20+3) 2 (8d) 01V
(20 + %) a3

Bsg =  —woar+ (yo+3) ax—z0a3 = —azg X +b(yo+3) ¥ —cz02 (8d) O

By = (zo+3) a1 — (yo— 3) a2 — = a(wo+3)%—b(y—3)y—c(o—1%)2 (8d) o1
(20 —3) as

B4, = —Tgaj — Ygag — Zg Az = —axgX —bygy —cz9 2 (8d) (ONAY

By = (z9+3) aityar—(20—3) a3z = a(zo+3) K+bygy —c(z0—1) 2 (8d) o1V

By = xgal—(y —%) as + 29 as = aa:gfc—b(y —%)y—i—czQZ (8d) o1V

Bu = —(zo—3)ai+(yo+3)a+ = —a(ro—3)%+b(yo+3)9+c(zo+3)2 (8d) o1V
(20 +3) a3

References

[1] J. M. Stewart and J. T. Szymarnski, A redetermination of the crystal structure of potassium trithionate, K3S50q, Acta
Crystallogr. Sect. B 35, 1967-1970 (1979), doi:10.1107/S0567740879008268.


https://doi.org/10.1107/S0567740879008268

